7.1 Solving Systems

Recall you have learned 4 methods to solve systems of equations they are

1 Coing,
2) Soloshity RO
3) E'i‘mm&ﬁc’(\ .

9 NG Y

Method 1
Solve the System }

Method 2 " 5’( '
Solve the System 50\0‘
2x +2y =100 )

:ﬁ_—i 300
A
XTS/O“‘XB :BOO
56x-x"= 300
N2 SOx-300=0 . ,‘\
([0‘0172. @23/’5 )

43028

Method 3

e

Solve the system .

N~ <

Special Situations




7.1 Day 2 Apply Systems s A1

i ¥ (N0
fock 4o ok PCC
e Break Even Point — \\‘U{’ % - ~ : ~ and

e Equilibrium Price ~ \U\&QIB\« ’:H&“ i <t OIAY

Tips: line up the units to make it easier to sort out

Example
CHEMISTRY How many liters of 15% acid and 33% acid should be mixed tg make 40 liters of 21% acid solution?
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Example

SHOPPING Two stores are having a sale on T-shirts that normally sell for $20. g re S is advertising an s percent
discount, and Store T is advertising a ¢ dollar discount. Rose spends $63 for three T-shirts from Store S and one from
St/ori T. Manny spends $140 on five T-shirts from Store-S and four from Store T. Find the discount at each store.
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Matrix Multiplication AB

Example

2x +3y =10
Solve 3y —y=4
2x—y =10
Solve x—z=-1 )
y+z=-9 [
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At the Pittsburgh zoo, children ride a train for 25 cents, adults pay $1, and senior citizens 75 cents. On a given day, 1400

passangers paid a total of $74O for the rides. There were 250 more chlldren nders than all other riders. Find the
number of chlléren adult, and senior riders.
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7.3 Multivariate Linear Systems (AKA back substitution)
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Tips for completing Gaussian Elimination:
1) Interchange two equations if needed

2) Multiply (or divide) one of the equations by any nonzero real number
3) Add a multple of one equation to any other equation in the system.
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Example
’3(.‘_)(4' 2y—z= _;,)
3x+7y—-3z=12

-2x—4y +3z=-5

Example
-1 (x-2y+2=8%
2x+y—3z=-9

-3x+y+3z=5
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7.5 Systems of Inequalities :

Example
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